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1.  4d®-6ab S A5ES AL?

® 4a(a-b) @ 2ab(a - 3) ® a(a-b)
@2a(2a - 3b) ® 4a*(1 - 6b)

4a? - 6ab = 2a(2a — 3b)




o o
= A=
o Fa, b, c & Fa+b+c 9 FE FSHAE?

o]-g5}o] 1112 - 1102 9] e Fat= A

1112 - 1102 = (111 + a)(111 - b) =

® 110 @ 221 @ 321 @ 421 (@)441

1112 - 110%2 = (111 4+ 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a-+b+c=441




3. 25x2-16y*> =9, bx +4y =9 W, 4y — 5x 9] ZS F51H?

@ -2 @—1 ® 0 @ 1 ® 2

~&B

25x% — 16y? =9, (5x + 4y)(5x—4y) =9
9(bx—4y) =9

ox —4y =1

Sody—-bx=-1




oS WA U, 2 -y 4 3(x +1) O A T

x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v3  ® VI5+443

~&B

2=y +3(x+y) = (x+y)(x-y) +3(x+)
=(@x+y)(x-y+3)
= V3(V5+3)
= V15+33




(x+2)? = (x—1)(x+2) & Aot 7rks] YepH?

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2
(@)3x+6 ® 3x-6

(FA) =(x+2){x+2-(x-1)}
— (x4+2)x3=3x+6




6. (2x-1)°-(x+2)°& A5RAHA (3x + a) (x + b) 7} HTF et
ol i, a - b 9] = FsHH?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4




x(x+1)(x+2)(x+

3)+12 ARl sh Wk, () gtel Soiz
o] 4] g 7129

x(x+1)(x+2)(x+3)+1
=x(O)x (x+1)(@)+1

= (x> +3x)(®) +1

(@) = Azt st

A2 +2A4+1=(A+1)=(®)?

® x+3 @ x+2 ® x*+3x+2
@x2+3 ® x2+3x+1

@ x>+ 3x




8.

X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




® x*+1

@ x+1

@ x-1

(@)x2+x—1

@ x2-1




10. a=1.75 b=025 9L 9, a® - 6ab + 9b* 2| F= F5H?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b? = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




11. x%y—-y-—2+2x2 o] A7} ofd AL2?

® x-1 @ x+1
@y-2 © y+2

~&B

(FA) =xy+2x%2-y-2
=x*(y+2)-(r+2)
2

-1y +2)
=@+ )x-1r+2)




12. T8 % ¥ +y—x— %y 9 47} ohd L9

@xg—y @ x-y @ x-1
@ x+1 ® x*-1




13. o3& A ax—ay-bx+ by S A5E5f5HA?

@ (r-y)a-b) ® (x—y)a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)

(F)=a(x-y) - b(x-y) = (x—y)(a—b)




14.

OZFA] x% — 3xy + 2y +4x -5y + 3
b)(x+cy—d) 7t FUTh & F &

D a+b=3 @ b+c=2 @ c+d=1
@a—!—c:—l ® b+d=-3

B ~
x>+ (4-3y)x+2y2 -5y +3
=x2+(4-3y)x+(2y-3)(y-1)
=x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




15. a—14 @,bzl-@gq,g—gﬂa%?

O -4+2 @ -2v2 ® 22
@4«/5 ® 62

B

ab=(1+V2)1-V2)=1-2=-1
a+b=(01+V2)+(1-+v2) =2
a-b=(1+ V2)-(1-V2)=2V2
_b?*-a®> —(a+b)(a-Db)
b

Q>

ab
—2x24/2
-1

S

a
=42




16. x+y=-24+V3,x-y=1-V3 LW, x>-y>*+3x-3y & &<

T-5HH?
65)—2 @ -1 ® 2-13
@ 2+ V3 ® V3

=@x-y)(x+y+3)

(1- V3)(-2+ V3+3)
(1-V3)(1+ V3)
1
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17 x——Zl?——-_]EH,XQ——z—QJ%}:HOT?
X X




18, (x-2)x*-3(x-2)x-10(x-2) & I5E3lotaA?

@ (-2 (x-5) (x +2) @ (x-2) (x+5)(x+2)
® (x=2)(x-5)(x+3) @ (x-2)(x+5)(x-2)
® (x=2)(x+5)(x-13)

B

A=x-22 X5y
(x=2)x* -3 (x-2)x—10(x—2)
= Ax? - 3Ax - 10A

= A(x? - 3x - 10)
=A(x-5)(x+2)
=(x—-2)(x-5)(x+2)
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19. =4 %2 A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)




20.

o7k 247 1@2:@ ) =

o] gt §9] AolE x, A2 FAF Y] g ¥o] Aolg y 2 & ),
X3y + xy® O & FSHH?

©)

[

@ 8

9 1
2_

()? =a%y? =22 - (V3)? =1

xy=1( x>0,y >0)

whbA | 3y + xy? = xy(x® + %) = 1 x4 = 4 o[t}

X

=2+V3,)*=

&




